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Abstract: This paper develops the divisibility of the so-called Simple Primes numbers (1 to 9), the discovery of a pattern to infinity, the
demonstration of the Inharmonics that are 2,3,5,7 and the harmony of 1. The discovery of infinite harmony represented in fractal numbers and
patterns. This is a family before the prime numbers.

Simple Prime Number

In order to understand how simple Primes numbers work in this text, the approach is partial, only use divisible digits from 1 to 9. For a number to be considered Simple Prime by
dividing it by 2, 3, 4, 5, 6, 7, 8, 9 must give a decimal result.

Prime numbers are those that are only divisible by themselves and by unity. Those that can be divided by other numbers from (2 to 9) are called Simple Compounds

Simple Prime Number € Z
The simple prime numbers maintain equivalent proportions in the positive numbers and also in the negative numbers.
In this paper the demonstrations are made with numbers € N

The Golden Pattern

The Pattern discovered is from 1 to 630. It repeats itself to infinity respecting that proportion. The Golden Pattern consists of a rectangle of 6 columns x 105 lockers.

The Prime numbers fall into only two columns in that of 1 (Column A) and 5 (column B) They are yellow. The compounds are red.

The Golden Pattern is divided into three Sectors. From 1 to 210, from 211 to 420 and from 421 to 630 proportional. These are identical, the only variable being their reductions.
Each sector is divided into two separate portions. So there are 6 parts in the pattern.

The Golden Pattern have so many amazing equivalences that dazzle by their order, harmony, beauty and balance. The quantities are divided into two similar columns. Their
quantities are the same, their proportions as well. Adding the Primal Simple Numbers from each column we get perfect equality to infinity.

Pattern (1 to 630) Sector 1 (110 210) Portion 1 (1 to 105)
Sector. 2 (211 to 420) Portion 2 (106 to 210)
Sector. 3 (421 to 630). Portion 3 (211 to 315)
Portion 4 (416 to 420)
Portion 5 (421 to 525)
Portion 6 (526 to 630)

In each Portion there are 24 simple Prime numbers, in each Sector there are double, 48 prime numbers. And in the Total Pattern there is the triple, Then there are 144 Simple
Primes.
Nps= Simple Prime Numbers

105 210
Portion 1 Z = 24 Simple Prime Numbers Portion 2 Z = 24 Simple Prime Numbers
Nps =1 Nps =106
315 420
Portion 3 Z = 24 Simple Prime Numbers Portion 4 Z = 24 Simple Prime Numbers
Nps=211 Nps>316
525 630
Portion 5 Z = 24 Simple Prime Numbers Portion 6 Z = 24 Simple Prime Numbers
Nps>421 Nps =526
630
Golden Pattern 2 = 144 Simple Prime Numbers
Nps=1

In each Pattern there are two columns A and B, in each column there are 72 prime numbers per Pattern, there are also 24 by Sector and 12 by Portion.
Columns A and B work as if they were complementary opposites since their total results generate an equilibrium to infinity.
The table on the right shows the reductions of the Simple Primary Numbers in orange, the reductions complement each other between each Sector.

Graph of the two Portions of the Sector 1of the Golden Pattern
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Characteristics of the Pattern

The values in column (A) are always reduced to combinations of 1, 4 and 7. The right column (B) is always reduced to combinations of 2, 5 and 8.
The yellow ones are the primes, the red ones are Numbers Compounds. The reduction comes from the sum of their digits.

The N° 2, 3,5, 7 Special Simple Primes Numbers

If these numbers were primes would destroy the proportions, the beauty and the harmony found to infinity, in fact the numbers Simple Primes have an exact equivalence between
the amount that are distributed in column A and the column B, 72 N° Simple Primes of Each side, adding 144 in the Golden Pattern.

These two opposing but complementary columns have a perfect balance.

In turn the Three Sectors of the Golden Pattern are Triplets, this validates the fact that they are not Primes.

The 2, 3, 5 and 7 are divisible by themselves and by one and the other, but do not meet a fundamental aspect, which is to be in harmony like the rest of the numbers to infinity.
The 7 is not Prime because in the first pattern from 1 to 630 it is reduced to 7 but in the following pattern its place would be 637, which is a multiple of 7 (7x91). The same thing
happens to infinity every 630 numbers.

With the 5. In the following pattern his place occupies the 635, which is multiple of 5. (5x127)

The 2 is in another column, the place of 2 is occupied by 632 which is even and multiple of 2.

In 3 it is not within the reduction of values. (1, 4, 7 or 2, 5, 8) and in the following pattern 633 is formed instead, which is a multiple of 3.

This shows that Simple N Primes are Always Odd.

N ° 1 Special Simple Prime Numbers.

The 1 is Simple Prime Number, since the subsequent reductions in the Patterns to infinity in its place always reduce to 1 and maintain a precise equivalence and proportions.
631 =1 This is the first Number of Pattern 2

1261 = 1 This is the first Number of Pattern 3

1891= 1 This is the first Number of Pattern 4

Golden Pattern complete divided into its three identical Sectors

Each Sector operates every 210 numbers, their positions match in triplicate, the only variable are their reductions,
We can see in the graph that the reductions are combined in the same position and locker on the left in reductions 147 and on the right in 258

Example
1=1, 211=4, 421=T (Left] |11=2, 221=5, 431=8 (right)

Red. Sector 1 Red. Red. Sector 2 Red. Red. Sector 3 Red.

1 a 7
2 5 8

4 8 7 2 1 5

1 5 a 8 7 | a43) 2
2 5 |_a49)] 8

a 7 1

1 5 a 8 7 461 z

7 2 1 5 a 467 8
8 2 s
5 8 2

7 1 a

a 8 7 2 1 s

1 a 7

7 | s3] 2 1 5 a |_s03] 8
|89 8 2 | 509 5

7 2 1 5 a 8

4 8 7 2 1 5

1 113 5 a 323 8 7 533 2

a 7 1

1 5 a 8 7 2
2 5 8

a 8 7 2 1 5
5 8 2

7 1 a

a 7 1

1 5 4 8 7 2

7 2 1 E2 5 a 8
8 |_359] 2 s

1 a 7

7 191 2 1 5 a 611 8

a 197 8 7 2 1 5

1 a 7

The units of each number of the 3 sectors are equal and occupy the same position.

Red.= Sum of digits and reduction of digits
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Both patterns are equal to infinity
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Following Pattern

| 1091]
|_1109]
_1121]

1121

| 1133]

1151

| 1241]

1241

125

The reductions of the numbers coincide to infinity every 630 numbers. The positions of the simple prime numbers also coincide.
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Addition Simple Primes Numbers by Portion in (A + B)
Nps= Simple Prime Numbers

105

= 1248
Nps =1
210
= 3792 Diff. 2544
Nps =106
315
= 6288 Diff. 2496
Nps =211
420
= 8832 Diff. 2544
Nps =316
525
= 11328 Diff. 2496
Nps>421
630
= 13872 Diff. 2544
Nps =526
630
Golden Pattern = 45360
Nps=>1

The reduction of 2544 =2+5+4+4=15=1+5=6

The reduction 0of 2596=2+4+9+6=21=2+1=3

The reduction of totals always gives 9 in all cases if we add 630 numbers
The differences are repeated to infinity if we add 105 numbers

Addition Simple Primes Number by Sector in (A+B):

210

Z = 5040 48 Simple Prime numbers
Nps=1
420
= 15120 Diff. 10080, 48 Simple Prime numbers
Nps=>211
630
= 25200 Diff. 10080, 48 Simple Prime numbers
Nps=>421
630
= 45360 144 Simple Prime numbers
Nps=>1

Each SECTOR is multiple x3, x5 with respect to the first. Also to infinity if we are adding 210 next numbers (x7, x9, x11, etc.)

Although Prime numbers only increase by 48. (Multiply x2, x3, x4, etc.)
45360= 5040 x9.

Addition Simple Primes Numbers by column (A and B) and Sector

Nps= Simple Prime Numbers

210 210
Column A Z = 2520 24 Simple Prime Numbers Column B z = 2520 24 Simple Prime Numbers
Nps=>1 Nps=>1
420 420
Column A Z = 7560 24 Simple Prime Numbers Column B Z = 7560 24 Simple Prime Numbers
Nps>211 Nps>211
630 630
Column A = 12600 24 Simple Prime Numbers Column B = 12600 24 Simple Prime Numbers
Nps>421 Nps>421

144 Simple Primes Total= 45360
Each column is multiple x3, x5. Etc.

Simple Prime Numbers by Pattern
630

Golden Pattern 144 Simple Prime numbers
Nps=>1
1260

Pattern 2 z 288 Simple Prime numbers
Nps=>1




1890

Pattern 3 z 432 Simple Prime Numbers

Nps=>1

It is repeated to infinity every 630 numbers. The pattern is multiplied by x2, x3, x4, x5, etc.

Addition Simple Primes Numbers by Pattern

630

Golden Pattern 144 Simple Prime numbers = 45360
Nps=>1

1260

Pattern 2 144 Simple Prime numbers = 136080
Nps 2631

1890

Pattern 3 144 Simple Prime numbers = 226800
Nps=1261

The model continues to multiply and is repeated to infinity every 630 numbers. (Odd Multiples for totals, x3, x5, x7, etc.). Difference with the previous value in all cases is 90720.

Addition of Compounds numbers per Pattern
Nc= Compounds Numbers

630
Pattern 1 486 Compounds numbers = 153405
Nc=>1
1260
Pattern 2 486 Compounds numbers = 459585
Nc=>631
1890
Pattern 3 486 Compounds numbers = 765765
Nc>1261

Difference with the Golden Patternis x3

Difference with the Golden Pattern is x5

Difference 306180

Difference 306180

Total sums of Compounds numbers in columns (A and B) separately in the Golden Pattern

630
Pattern 1, Column A Z 33 Compounds = 10185

Nc>1

630
Pattern 1, Column B Z 33 Compounds = 10605

Nc>1

1260

Pattern 2, Column A 33 Compounds = 30975
Nc>631

1260

Pattern 2, Column B 33 Compounds = 31395
Nc>631

1890

Pattern 3, Column A 33 Compounds = 51765

Nc>1261

1890

Pattern 3, Column B 33 Compounds = 52185
Ne>1261

110630 Column A 33 compounds = 10185
Column B 33 compounds = 10605
Total 20790
63110 1260 Column A 33 compounds = 30975  Diff. with the first 20790 in A
Column B 33 compounds = 31395 Diff. with the first 20790 in B
Total 62370
1261 to 1890 Column A 33 compounds = 51765  Diff. with the first 20790 in A
Column B 33 compounds = 52185  Diff. with the first 20790 in B
Total 103950
Odd Multiples for totals, x3, x5, etc.
20790*3=62370
20790*5=103950

Total compounds numbers in columns (A + B) of the Golden Pattern1 up to 630

630

Golden Pattern, Column A+ B Z
Nc=>1

66 Compounds numbers = 20790

1260

Pattern 2,Column A + B 66 Compounds numbers = 62370
Nc>631

1890

Pattern 3,Column A + B 66 Compounds numbers = 103950
Nc>1261

There is also a difference between each Pattern of 41580
We could keep multiplying, x7, x9, x11, etc. To infinity every 630 more numbers.

Sum of compounds numbers and Simple Primes Numbers
We add every 210 numbers all the values.
The sum of each SECTOR gives us a total:

Diff. with the first X3

Diff. with the first X5




n= numbers

210
Z = 22155 (210 Numbers)
n=1
420
= 66255 (210 Numbers) Difference with the former of 44100
n=211
630
= 110355 (210 Numbers) Difference with the former of 44100
n>421
630
Golden Patternz = 198765
n=1

The reduction of 22155, 66255 and 110355 in all three cases is reduced to 6.
210 is reduced to 3
The difference of 44100 is also reduced to 9 and this is repeated to infinity every 210 subsequent numbers

Lockers in A and B for Simple Primes Numbers

The three sectors are identical only vary their reductions

The pattern, column A, Sector 1 (from 1 to 210) has 24 Primes which are grouped by column of one, of to two, of to three or of four.
Forming the following sequence.

Column A1,2,3,4,3,2,1,44.

The pattern, column B, Sector 1 (from 1 to 210) has 24 Primes which are grouped by column of one, of to two, of to three or of four.
Forming the following sequence

ColumnB4,4,1,2,3,4,3,2,1

If we now observe and compare these frequencies we will realize that they are mirrored.
12,3432144 441234321
This detail is impressive. This is repeated in the three sectors of the Golden Pattern.

Reductions of the N® Simple Primes

Golden Pattern Reduction Values for Column A (1 to 630)

Presented in three rows (although it is only 1 row of 72 digits)

The funny thing is that each row coincides with the bottom one in the order 1, 4, 7 the values are never repeated per unit, ten, hundred, or unit thousand. These are combined.
The pattern matches the location format every 210 numbers but to be exact it must be up to 630. In this way all reductions coincide to infinity.

Presentation of the reductions in the 3 Sectors of Pattern in column A

1 41 417 7417 741 41 4 7417 1741
4 74 741 1741 174 74 7 1741 4174
7 17 174 4174 417 17 1 4174 7417

There are 9 combinations. We see how 1, 4 and 7 are combined not only horizontally but also very accurately vertical without repeating. We can also observe that (1, 4, 7) is
repeated 9 times, while (4, 7, 1) is repeated 8 times and (7, 1, 4) is repeated 7 times

The same happens in column B.

2852 5285 a8 28 285 L2385 L2838 28 2
285 B528 2 22 228 8528 852 22 >
8528 2852 5 85 852 2852 285 85 8

Both graphics are mirrored

1 41 417 7417 741 41 4 7417 1741 2852 5285 8 28 285 5285 528 28 2
4 74 741 1741 174 74 7 1741 4174 5285 8528 2 52 528 8528 852 32
7 17 174 4174 417 17 1 4174 7417 8528 2852 5 85 852 2852 285 85 8

There are 9 combinations. 2 of a digit, 2 of two digits, 2 of three digits and three of four digits. We see how 2, 5 and 8 combine not only horizontally but also very accurately vertical
without repeating. We can also observe that (2, 5, 8) is repeated 9 times, while (8, 2, 5) is repeated 8 times and (5, 8, 2) is repeated 7 times.

Adding both reductions (1, 4, 7 and 2, 5, 8) on each side gives us: 147 + 258 =405=9

Formula

Get Simple Primes number
We must add 630 to each simple prime number of the Golden Pattern to obtain others.

Nps=x+630*p

x=(1,11,13,17,19, 23, 29, 31, 37, 41, 43, 47, 563, 59, 61, 67, 71, 73, 79, 83, 89, 97, 101, 103, 107, 109, 113, 121, 127, 131, 137, 139, 143, 149, 151, 157, 163, 167, 169, 173,
179, 181, 187, 191, 193, 197, 199, 209, 211, 221, 223, 227, 229, 233, 239, 241, 247,....,629.)

p= Pattern Number

Nps= Simple Primes number

Example whit Pattern 1 and simple prime 11
Nps=11+630%1=641
Example whit Pattern 2 and simple prime 11



Nps=11+630*2=1271

Formula

Calculation of Simple Primes number
The formula for calculating how many prime numbers there is, is very simple. We use a simple three rule since having the Master everything becomes very simple

Example how many prime numbers there are up to 63007
630 = 144 Simple Primes Numbers
6300 = x

X= (6300 . 144)/630= 1440

Calculate Simple Prime Numbers to determine where the pattern is located
N° or= would be the order number in which it would be located in the Pattern

N° p = would be the Pattern number.

X =would be the number of which we want information

Formula  N°or=x +-630%(N°p-1)

Formula N°p = —
630

Example: 1261

on= 1261 _
N°p = 30 2.0015. (We round up, 3)

N°p = This number is in Pattern 3
N° or = x+ -630%(N°p-1)

N° or = 1261 + -630* (3-1)
N°or=1261+-630*2 =

N° or = 1261+ 1260 = 2522 This out of the values 1 to 630
N° or = 1261-1260 = 1 This would be the location of the pattern

Graphic

Cropped graph of comparison between simple prime numbers and prime numbers.
We note that all prime numbers are always Simple Prime numbers.

Simple Prime numbers Prime Numbers

8 43 8
1 [ 437] 5 1
7 | 443] 2 7 | 23] 2
| 44| 8 | as9] 8
1
7 2 2
4 467 8 457 8
5
2 2
4
1 5 1 5
7
. = =
| 509] 5 | 509)
4 8 8
1 5 1
7 533 2

The product of 7 consecutive integers is divisible by 7.

Conclusion

The Golden Pattern is the confirmation of an order to infinity in equilibrium, each column is in harmony and balance with the other, the demonstration of the inharmony of 2, 3, 5 and
7 is very great. The number 1 is necessary and generates balance. Simple Prime Numbers are a family prior to the Classical Prime Numbers.

All Prime Numbers are in this family of Simple Primal Numbers, although each time with less presence towards infinity. This generates that as the Simple Primes increase towards
infinity the Primal Numbers approach 0 towards infinity. Both are infinite but in opposite directions. The simple prime numbers maintain equivalent proportions also in the negative
numbers.

This Paper is extracted from my book The Golden Pattern
ISBN 978-987-42-5202-9, Buenos Aires, Argentina.
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